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2. Study the picture below and answer the questions which follow.

(a) Explain why tickets for the “Battle of Britain” football match are scarce.

(b) Calculate the Total Revenue from the sale of tickets for the football

match.

Answer:  £

Show your working here.

You could sell it for a 
profit because lots of 
people are still looking 

for tickets

I have a ticket 
for that match!

BATTLE OF BRITAIN!

GLASGOW UTD V LONDON ROVERS 
AT LONDON STADIUM

SOLD OUT!
 

60,000 SEATS
TICKETS £45
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2. (continued)

(c) The organisers of the “Battle of Britain” football match are renting the

London Stadium for this match.

Is rent an example of a fixed cost or a variable cost?

Tick the correct box.

(d) Some tickets for the “Battle of Britain” football match are now being

resold on Internet auction sites.

(i) Will buyers be prepared to pay more or less than the original price

of £45?

Tick the correct box.

(ii) Explain your answer to (d)(i).

(e) The woman in the picture has a ticket for the “Battle of Britain” football

match.

Explain how she might make a profit by selling the ticket.
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3. (continued)

(b) Suggest 2 actions the Government could take to encourage new

businesses to set up in Old Town.

1

2

(c) (i) Identify evidence of inflation in the picture.

(ii) Explain the effect inflation might have on sales of BF Bikes.

(d) From the picture, identify 3 services offered by JS Bank.

1

2

3
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4. Study the diagram below and answer the questions which follow.

DEMAND FOR SEETHRU FLAT SCREEN TELEVISIONS

(a) Calculate the change in demand for Seethru flat screen televisions

between 2007 and 2010.

Answer:

Show your working here.

(b) Seethru televisions will only be sold to people with effective demand.

Explain what is meant by the term effective demand.

Page eight[0820/401]

KU ES

DO NOT

WRITE IN

THIS 

MARGIN

Marks

2

2

2007

2010

KEY

= 10 000 

LCD 

TVs



4. (continued)

(c) Identify whether each of the following might increase or decrease

demand for Seethru flat screen televisions.

Tick the correct box.  The first one has been done for you.

(d) (i) There is a shortage of LCD screens needed to make Seethru

televisions.

What effect will this have on the quantity of Seethru televisions

supplied?

Tick the correct box.

(ii) Explain your answer to (d)(i).
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Events Increase Decrease

Seethru televisions are recommended by a

top television retailer. ✓

There is a decrease in consumer income.

A large number of consumers complain

that Seethru televisions have poor picture

quality.

The price of a television licence increases.

Rival television manufacturers raise the

price of their flat screen televisions.

A major television celebrity advertises

Seethru televisions.

Increase Decrease



5. Study the picture below and answer the questions which follow.

(a) From the picture, identify an example of money being used as each of

the following:

(i) a measure of value;

(ii) a means of exchange;

(iii) a means of paying later.

(b) Notes and coins are a form of money.  Name two other forms of money

in use today.

1

2
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12 MONTHS 
INTEREST FREE 

CREDIT ON 
THIS SOFA

£500

FURNITURE SHOP
SOFA SO GOOD

I‛ll take that 
sofa. Can I 
pay cash?  

Yes, of 
course sir

SALES DESK
ACCEPTED HERE
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5. (continued)

(c) Suggest 2 reasons why people might save their money.

1

2

(d) State 2 places where money might be saved.

1

2

(e) The “Sofa So Good” shop belongs to which sector of the production?

Tick the correct box.
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6. Study the table below and answer the questions which follow.

(a) Calculate the missing figures for:

(i) A

Answer: Tonnes

(ii) B

Answer: Sweaters

(b) (i) Which country has an absolute advantage in the production of

wheat?

(ii) Explain your answer to (b)(i).
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Number of sweaters

produced by 100

workers per week

Tonnes of wheat

produced by 100

workers per week

4000 10 000

6000 A

TOTALS B 12 000

USA

SCOTLAND



6. (continued)

(c) Suggest 3 benefits to consumers from international trade.

1

2

3

(d) Scotland buys wheat from the USA.

(i) Would this be an example of an import or an export for Scotland?

Tick the correct box.

(ii) Explain your answer to (d)(i).

(iii) Name the currency used by consumers living in the USA to buy

Scottish sweaters in the USA.

(e) Scotland imports 3000 tonnes of oranges from a farm in Spain.  The

Spanish farm charges Scotland 50 Euros per tonne of oranges.  If the

exchange rate is £1 = €1·50, what will be the total amount paid for the

order in Sterling?

Answer:  £

Show your working here.
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7. Study the picture below and answer the questions which follow.

(a) From the picture identify:

a direct tax;

an indirect tax.

(b) (i) State the percentage decrease in corporation tax made in the

budget.

Answer: %

(ii) Give 2 reasons why the Government of Rutherland has reduced

corporation tax.

1

2
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Today‛s budget 
looks like this.

Rutherland Budget
Tax on petrol increases by 5%

Income tax rises by 2%

V.A.T. rises by 1%

Corporation tax falls by 5% for large firms

The government will increase 
spending on education 
by £100 million 

P

Q
D

D

S

S

Rutherland News Hour



7. (continued)

(c) Suggest 2 economic reasons why the Government of Rutherland

decided to spend more money on education.

1

2

(d) (i) What effect might the change in income tax have on the standard

of living of workers in Rutherland?

Tick the correct box.

(ii) Explain your answer to (d)(i).
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